Very simplet powerful PL "Vnivers,1" model "Universal model of functional PLS Simple to reason about! M== x | Nx. M L MM that's all! function application "abstraction" Examples ldertity dx.X First Ax. Jy.x Xx. Xy.y reand Apply Af. Ax. Fx Self-apply notypes, so this is fine ! Af. ff 1g. df. dx. g(fx) Composition Abstractions are right-associative, app. left assoc. Ax. 24. Az. X Y Z = Ax. (Ay. (Az. (Xy)2)) Application has higher precedence than abstraction 1x. XY 12. XZ = 1x. ((xy) (12. (xz))) Free + bound variables -A vor. is bound if it's in the scope of a binding in Ass: x Abstractions bind variables Az. (Ax. X z) (Ay. yz) (dx. xy) (dy. yy) dx. y (dy. yz Uz. xz) AX. × (AX.X)

Substitution

$$[N/k]M$$
 Substitute N for free x_j in M
 $[Y/k] x = y$
 $[Y/k] (x = (\lambda x, x)) = y = (\lambda x, x)$
 $[Y/k] (\lambda z \cdot x) = \lambda z \cdot yy$
 $[Y/k] (\lambda z \cdot x) = \lambda z \cdot yy$
 $[Y/k] (\lambda y, yx) \neq \lambda y, yy y is "captured"
This refors to some outor y
 $2 - equivalence$
Nomes of bound variables don't matter"
 $\lambda x x = \lambda \lambda y, y = \lambda \lambda z \cdot z$
 $\lambda x \lambda y \cdot x y = \lambda \lambda z \cdot z$
 $\lambda x \lambda y \cdot x y = \lambda \lambda z \cdot z$
 $\lambda x \lambda y \cdot x y = \lambda \lambda z \cdot z$
 $\lambda x \lambda y \cdot x y = \lambda \lambda z \cdot z$
 $\lambda x \lambda y \cdot x y = \lambda \lambda z \cdot z$
 $\lambda x \lambda y \cdot x y = \lambda \lambda z \cdot z$
 $\lambda x \lambda y \cdot x y = \lambda \lambda z \cdot z$
 $\lambda x \lambda y \cdot x y = \lambda \lambda z \cdot z$
 $Preventing capture: If we're substituting a torn VIa Free Vor y
into $\lambda y \cdot M = -canvert (convert to a -equivalent torn)$
 $(Ly k) (\lambda y \cdot yx) = [Ly(k) (\lambda z \cdot zx) = \lambda z \cdot zy$
 $[N/k] x = N$
 $[W/k] y = y \quad x \neq y$
 $[W/k] (\lambda x \cdot M) = \lambda x \cdot M$
 $[W/k] (\lambda x - M) = for (M)$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M) = \lambda x \cdot M$
 $[W/k] (M x - M)$$$

٢.

.

da a

Computing in
$$\lambda$$
-calculus
 β^{7} -reduction
 $(\lambda \times .M) N \xrightarrow{P} E_{N}(k)M$
 $(\lambda \times .\lambda_{2}. \times \chi) (\lambda_{X}. \chi) (\lambda_{Y}. \chi)$
 $\overrightarrow{R} (\lambda_{X}. \lambda_{Z}. \chi_{Z}) (\lambda_{X}. \chi) (\lambda_{Y}. \chi)$
 $\overrightarrow{R} (\lambda_{X}. \chi) (\lambda_{Y}. \chi)$
 $\overrightarrow{R} (\lambda_{X}. \chi) (\lambda_{Y}. \chi)$
 $\overrightarrow{R} (\lambda_{Y}. \chi) (\lambda_{Y}. \chi) (\lambda_{Y}. \chi)$
 $\overrightarrow{R} (\lambda_{Y}. \chi) (\lambda_{Y}. \chi) (\lambda_{Y}. \chi)$
 $\overrightarrow{R} (\lambda_{Y}. \chi) (\lambda_{Y}. \chi) (\lambda_{Y}. \chi) (\lambda_{Y}. \chi) (\lambda_{Y}. \chi)$
 $(\lambda_{Y}. \lambda_{Y}. \chi) (\lambda_{Y}. \chi) (\lambda_{X}. \chi) (\lambda_{Y}. \chi) (\lambda_{Y$

$$(\lambda x. x) ((\lambda y. y) z) \xrightarrow{B} (1 x. x) z \xrightarrow{B} z \in Call by rame (zager)$$

(BV may not terminate even it M has a rormal form $(\lambda \times z)$ $((\lambda \times x)(\lambda \times x)) \xrightarrow{BN} z$ However! IF 2 reductions terminate, both are guaranteed to have the same result (i.e, normal firms are unique) "Church-Rosser Property/Theoren" 10 or more reductions Diamond Property: It M, pr M2 and M, pr M3, then I some M4 such that M2 pr M4 and M3 pr M4 M, 7 M2 J#M4 Proof outline: ister Lenna: If MI = M2 and MI = M3, then there exists My such that M2 = *My and M3 = My M - MA Corollary: If M, 7 M2 and M, 7 M3 and M2 and M3 are in normal form, then M2=M3

• •